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If G is finite and Its G
,
then IHI divides lol

.

The number of distinct left (or right) cosets of H in G

is 141HI i
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distinct cosets of It :

G -- (ai Hn g- It = 0 if itj )

Furthermore
,

for all i .

So 161 = (n -- number of distinct cosets .)
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Defy The index of It in G
,
denoted

,
is the

number of distinct coset of H in G.

Note : [G : H] --

←
order of element divides order of group.

* Corotary If at G,
*

proof : lat =

Corotary It a e G
,
a
'"

-1 So 6=121. .

Cornetcy It lol =p ,
a prime, then G is .

proof ! Sps at G and ate .

Since lal divides p ,
lat =

, so

Cb : HT

IGYIHI -

lat divides IG !
.

Ka> I and sa> S G
.

[order of subgroyp generated by a.

e.

cyclic

p sa > = G
.

I
equally


